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GS-475

V1l Semester B.Com. Examination, May/June 2019

COMMERCE

(T

Paper 6.6 : Elective paper-IV : Cost Management
(CBCS) (Fresh+Repeaters) (2016-17 & onwards)

Time : 3 Hours

Max. Marks : 70

Instruction : Answers should be written completely either in English or in Kannada.

SRR - @ / SECTION - A

SENT SIRRmROte 9t WH-FJN w3k, B WT-TIR 2 eodnek. 5x2=10
Answer any five sub-questions from the following. Each sub-question carries
2 marks.

1. (a) ':jCCC-ﬁSG:} QOB @?Areﬁ?ér;i:, 9.

(b)

(c)

State the features of budgetary control.

WP, HFews powdesd 9

o

What is Value analysis ?

OIPFTITOR 4 TORFFO BROTE TIRTR, BROR.

Mention any four functional budgets.
23eDWEIT ST juimid @mawéwmd 393,
State the bencfits of ABC Costing.

Be W8 ROTTEH 9

What is margin of safety ?

TN, 3% BIvA 0wTeRd ?

What is material cost variance ?

b5y 5e3eE wowded ?

What is Standard Costing ?

P.T.O.
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R — 2 / SECTION - B

AR ITTR Ti

BINS SRFPrwwde AT IIAYR Y02 B® FHH 6 woInw 3x6=18
Answer any three of the following. Each question carries 6 marks.
SODBOD JODOTEIT =RWRAOBNT, Y THRE.

List out the limitations of budgetary control.

CEy a"zémﬁ_jd ODTLUSATR, 893

State the advantages of Standard Costing.

2,0t ﬁo%oda WWONTY =2 068 |

@IO0T TV JE oL % 20

TS oA wrEeT By T 12

Euéfg %ﬁ ﬁzaﬁ% ¥ 4,000

FOTL&HRCWD :

(a) o =T =IO

(b) :d“’m% 3 WOLL CRAVUFNYY 0= TRndY

(c) SBo= RePAE 0T CRETTIEY T8 denvg TETELT 0 e 20 s@ihoimten

The following data relates to a firm :
Selling Price Per unit <20
Variable Cost Per unit ¥ 12

Fixed expenses T 4,000
Calculate :

(a) P/V ratio

(b) BEP (in units) and in value

() New BEP (in units) and in value if Selling Price is reduced by 2C




AR A E

B CHERER een NDFRYRY ABC HFII, eVTOSRENY TOWE

T, AOBNRTY GOTOIREND WOT TOWD HURB TN X =3
NTDORTT. 20T 3o or RPN 3YBOTWOST :
X Soeps Y 3o

SUTDOAT CHRIELTNYL 5,000 60,000
28 0POZ, MOUND 20,000 1,20,000
2oE3), m-@?dagﬁeé ﬁos‘:jé 20 44
2ot 00O “wedny e, 160 384
TONFE 000 T3 BYFOBOSE
BOooce FowoHs wWenwed Bunse T 5,50,000
m@waﬁﬁ Towoh3 WM T 8,20,000
DOO STeBNY BowoHT RPN 7 6,18,000

.a':/a*: .

.

A Company manufactures two products X and 'Y using common facilities.
The following cost data for a month are presented to you :

Product X Product Y

Units Produced 5,000 60,000
Total Machine hours 20,000 1,20,000
Total number of Set-ups 20 44
Total number of Purchase Order 160 384
The annual Overheads are as under :

Volume related activity expenses ¥ 5,50,000

Set-up related expenses ¥ 8,20,000

Expenses relating to orders ¥ 6,18,000

Calculate the Overheads per unit absorbed using Activity Based Costing

approach.

P.T.O.
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6. Oz IpRFTWod TWeEE A S BTN WeTNTOT TR 20 oIS 15 kgs
ToMe aRNe O @S T20 B3 3.2 R ﬂaﬁe:a 33 SP&EcL03 11,000 kgs wﬁon’%ﬂej:i
T 2,64,000 Bo3 w¥aw wonwe 1,000 C'o‘c)cg o & —‘-""od: CRRIEFNTR
emag&aﬁoﬁ
TERTE BI[ANT, BOBLROND.

The Standard Material required to manufacture one unit of product ‘A’ is
15 kgs and the Standard Price of material per kg of material is ¥ 20.  The
cost accounts records however, revealed that 11,000 kgs of materials costing
T 2,64,000 were used for manufacturing 1,000 units of Product ‘A’
Calculate material variances.

en — & /| SECTION - C

3INT cIRRTeTTR FRT> TION wwIda. FS TITT 14 LoD 3x14=42

(o

7. TR0 DB, OF QTE ==rnen &N :

TRE WIeT3 Y

4 4
2017 1,20,000 8,000
2018 1,40,000 13.000
0T WHBOW0O :

(a) ©of HpTeEd OB

(b) RDLS VoD

(e) Bea W& 2018 TY

(f) B B T @ JI=EneN
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The Sales and Profits for two years as below :

Year Sales Profit
% 4

2017 1,20,000 8,000

2018 1,40,000 - 13,000

Calculate :

(a) P/V Ratio

(b) Break Even Point

(c) Profit when Sales are ¥ 1,80,000

(d) Sales required to earn a profit of ¥ 12,000
(e) Margin of Safety in 2018

(f) Variable Cost of the two years

8. 1-4-18 Sot BoTROH edoRs Hoy T 75,000, N - wew® 20183 SR
R S0 BRTH WOONE TR, BoIROTLY FINT wWRLEODZ, BN,

" FTRove | DOCQN® zRd SheensdEnyd
Elerat=s) )
z Z z T
BR0 14,000 9,600/ 3,000 1,700
2T 15,000 9,000/ 3,000 1,900
e 16,000 9,200/ 3,200 2,000
e 17,000] 10,000 3,600 2,200
BAT 18,000 10,400| 4,000 2,300

02T [N :

(a) RS IHOTT T gony OB BRH eERTHTT.

(b) SeoWT 3. 25 Irich [eowes DI, FTON 1 ond FOT [ DeBBNT.
(c) %90 =3y Seeosigid W ©o3C 1 Jorish. |

(d) woecd 301 T 25,000 med 2018 T SRECDY TORSITONG.

P.T.O.
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ANERRIE
A manufacturing v 1s expecting to have ¥ 75,000 Cash in hand on
1-4-18 and it requesied vou to prepare a Cash budget for three months
April to June 2018. The following information is supplied to you :

e e el

Months Sales Purchases| Wages Overheads
3 4 3 4
February 14,000 9.600 3,000 1,700
March 15,000 9,000 3,000 1,900
April 16,000 | 9,200 3,200 2,000
May 17,000 10,000 3,600 2,200
June 13.000] 10,400 4,000 2,300

Other Information :
(a)
(b)

is one month.

()

Period of Credit allowed by suppliers is two months.
25% of Sales are for Cash and the period of Credit allowed to Customers

Delay in payment of Wages and Overheads is one month.

{d) Income tax ¥ 25,000 is to be paid in June 2018.
9. 60 e0NYY WONCINT Lo TCAR Ho0W 3R LTTAH 1 F950BOSES ¢
TERED oA
CW BRD oW 3RS
Qﬁﬁ AN odgd ot o T o I |
wRONY Fo&, | mo nogE | RN o T3 rosdn
g g
ﬁ’ésc;:éd TOINFT 75 60 70 70
@6—@5@535 FOIOED 45 40 30 50
6:35@?56503 TOLNET 60 30 80 20
BORR) 62 TONYY TNTIOLHLOBI.
FORB&WROWD
(@) TOLNFT e SR
(b) oFs W3 WA
(c) ToNFd diu WETD
(d) ToxWES WIe =TI
e R
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The information regarding composition and the weekly wage rates of labour
force engaged on a job scheduled to be completed in 60 weeks are as

follows :

Types of Labour

Standard

Actual

‘Weekly Wage

Weekly Wage

30

No. of Workers rate per hour | No. of Workers | rate per hour
4 T
Skilled TS 60 70 70
Semi-skilled 45 40 30 50
Unskilled 60 80 20

The work completed in 62 weeks.

Calculate :

-

10. SA OEEs Somoms RRBOIND

Labour cost variance
Labour rate variance
Labour efficiency variance

Labour mix variance

—_— —— e

2 -,-_:;cﬁa;a‘d -’waégo EFo0E WOTe 8 TEToWoIW :

€IOTTOT DOTTT
» ai SorE BRECW ﬁz\a _— DRELT
shewosisd TOTR
54 i 4

OwRN, 0D 3,20,000|s3¢3nY ﬁo:ﬁs 800

ohog, T 3,00,000|mFIne Ross, 500

AT LT 1,95,000 2RF®ET NOLBNW 3,000

TR, DERF OB 1,70,000 [Z0&e3RN¢ KOS5, 850

oDoBRW 4,25,000|chosnd oo 25,000

P.T.O.
e —— —
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2oTHOL 2,050 BRHOHS wotH FoRF 3,000 BONNDY, X TIOHE Bo3OAT. VWO
ENAY &% T 1,20,000 F 300 % 2,30,000. QUTCAAENTOL 2e0eIINY

558 & 29F0E08S -

DAY STEBRD 20
0008, AT 25
VRFBH NOLNEL 600
BONEBIHNY ﬁoaﬁé 30
oo, poTmodeen O 2,000

T BOWT REYIIE TDELORYT TORIY 2033 TPEO LVTOIRENZTT RHeg WIVT
Boms, TOBHROND WH, 2E8333832 008 WhF VHRID0T = FOBT WWORF

FOIOBCHOT Sy FORDBRD.

&

The budgeted Overhead and Cost Driver Volumes of SA Ltd. are as follows :

Budgeted Budgeted
Cost Pool Overhead Cost Driver Volume
g L4
Material Procurcment 3,20,000|No. of Orders 800
Machine Set-up 3,00,000|No. of Set-ups 500
Maintenance 1,95,000|Maintenance hours 3,000
Quality Control 1,70,000(No. of inspections 850
Machinery 4,925,000 No. of machine hours 25,000

The Company has produced a batch of 3,000 components of X' Its Material
Cost was ¥ 1,20,000 and Labour Cost was ¥ 2,30,000. The Usage of activities
of this batch are as follows :

Material Orders 20
Sect-up of Machines 25
Maintenance hours 600
No. of inspections 30
Machine hours 2,000

Calculate the Cost Driver rates that are used for computing the appropriate
amount of Overhead to this batch and ascertain the cost of the batch of the

component using the activity based costing.
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(a)

(b)

& FYTOR =
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&S0 B@‘“Gu = 70%, 80% B 90% DO, *:Jamﬁrﬁ

Soeensey DEDENRT TN WY, WINPT, WO WPERT T8 Je3 m@

ROR B0@SBED.
QTN

WEERME mgdﬁ#a
wdrafg 3R®

TRAT (Stores) B WA NN

a3 WHeRMS a"acc:adagﬁfda
DT B3 (30% AT)

OBD P IVFEH (60% A0)

evNeivaten

2830, a’mmﬁzﬁéjﬁ%

SDOTIOBY WIBTHW 0 3RO NotInd

% 2IRS RONLoRE FoERBONO

Ze. 80 m&‘bﬁﬁr%&
4
12,000

4,000

20,000
2,000

11,000
3,000
10,000

~ 62,000

® ARVIE Sy Ten

1,24,000 no3ngt

12,000 o rish
T 36,000

12 0N

X 10

5,000 CRRIJEFN
320 chRAFT R

P.T.0.
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(a) Prepare a flexible budget for Overhead expenses on the basis of the
following data and determine the Overhead rates at 70%, 80% and 90%
Plant Capacity.

Particulars At 80% Capacity
Variable Overheads T
Indirect Labour 12,000
Stores including Spares 4. 000

Semi-Variable Overheads

Power (30% Fixed) 20,000

Repairs and Maintenance (60% Fixed) 2,000

Fixed Overheads

Depreciation 11,000
Insurance 3,000
Salaries 10,000
Total Overhcads m

Estimated Direct Labour Hours 1,24,000 hrs.
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(b) From the following particulars calculate :

(i) Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance
Quantity of Material Purchased
Value of Material Purchased
Standard quantity of matenal
Required per unit of finished Output
Standard Price of Material

Closing Stock of Material

Finished Output during the year

-00o0-

12,000 Units

¥ 36,000

12 units
7 10 Per unit
5,000 units

320 units




